                                                         AIMS      1

Strand 3: Patterns, Algebra, and Functions

Concept 1: Patterns: Identify patterns and apply pattern recognition to reason mathematically.
PO 1.  Communicate a grade level appropriate iterative or recursive pattern, using symbols or numbers.

PO 2.  Find the nth term of an iterative or recursive pattern.

PO 3.  Evaluate problems using basic recursion formulas.

Strand 3: Patterns, Algebra, and Functions

Concept 2: Functions and Relationships: Describe and model functions and their relationships.
PO 1.  Determine if a relationship is a function, given a graph, table, or set of ordered pairs.

In order for a graph to be a function the graph must pass the vertical line test.
[image: image210.wmf] 

If vertical lines can be drawn across the graph of an equation and each line passes through the graph only once than the graph represents a function.

Which of the following graphs represent a function?
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Strand 3: Patterns, Algebra, and Functions

Concept 2: Functions and Relationships: Describe and model functions and their relationships.

PO 2:  Describe the contextual situation depicted by a graph.

PO 3.  Identify a graph that models a given real-world situation.

PO4:   Sketch a graph that models a contextual situation.
1.  The graph depicts a real-world situation.  Which of the following situations could it depict?
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a) A person diving into a pool

b) The temperature is rising on a hot, sunny day

c) A hot drink left sitting on a table is cooling down

d) A lumberjack chopped down a tree

2.  The graph depicts a real-world situation.  Which of the following situations could it depict?
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a) A football is kicked into the air and falls to the ground 

b) A skydiver jumps from an airplane

c) A person is jumping on a trampoline

d) A car accelerates until it reaches the speed limit

A.





B.
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3.  Graph A depicts a person driving a car from home to work.  What is a possible explanation for the flat section of the graph?  (There is more than one correct answer)

4.  Describe a real-world situation that Graph B could depict.  (There is more than one correct answer)

Strand 3: Patterns, Algebra, and Functions

Concept 2: Functions and Relationships: Describe and model functions and their relationships.

PO 5: Determine the Domain and Range for a function
PO 6.  Determine the solution to a contextual maximum / minimum problem, given the graphical representation. 

What is the domain and range of each of the following relations?
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Strand 3: Patterns, Algebra, and Functions

Concept 2: Functions and Relationships: Describe and model functions and their relationships.

PO 7: Express the relationship between two variables using tables or graphs

PO 8: Interpret tables and graphs

Below is a table listing the amount of money Alicia earns each week, based on the number of hours she worked:

	Hours Worked
	27
	31
	19
	34

	Pay


	$183.60
	$210.80
	$129.20
	$231.20


1. How much does Alicia make each hour she works?

2. Write an equation expressing her pay as a function of the number of hours she worked.

3. Alicia needs $255 to pay her rent at the end of the week.  How many hours does she need to work to earn this much money?

The table below represents the cost of renting a rowboat at Lake Carolina based on the number of hours you want to use it:

	Hours


	1
	2
	3
	4

	Cost


	$6.50
	$9.00
	$11.50
	$14.00


4. How much additional money do you need to pay for each hour you rent the boat?

5. Write an equation expressing the cost of renting the rowboat as a function of the number of hours you want to use it.

6. If you want to rent the boat for an all-day fishing trip (10 hours), how much will it cost?

7. Based on your equation, how much does it cost to rent the boat for 0 hours?  Does this make any sense?  Explain.

Strand 3: Patterns, Algebra, and Functions

Concept 2: Functions and Relationships: Describe and model functions and their relationships.

PO 9:  Determine from two linear equations whether the lines are parallel, perpendicular, coincident, or intersecting but not perpendicular
1. Which equation is the equation of the line parallel to 
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2. Which equation is the equation of the line perpendicular to 
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3. Which equation is the equation of the line perpendicular to 
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4. Which equation is the equation of the line parallel to 
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Write the equation of the line that is parallel to 
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 and passes through (0, -3).

Write the equation of the line that is perpendicular to 
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 and passes through (0, -25).

Determine whether the lines passing through the given points are parallel, perpendicular, or neither.


a.
Line 1: through (1, 5) and (-4, -2)

b.  Line 1: through (-7, -23) and (0, -2)



Line 2: through (3, 0) and (-2, -7)

     Line 2: through (-1, 9) and (-6, -6)




c.
Line 1: through (4, -3) and (-8, 1)

d.  Line 1: through (3, 6) and (2, -1)



Line 2: through (5, 11) and (8, 20)

     Line 2: through (-1, 2) and (6, 1)



e.
Line 1: through (-2, -7) and (-4, 11)

f.   Line 1: through (0, 5) and (5, 2)



Line 2: through (5, 14) and (1, 2)


     Line 2: through (6, 1) and (6, 3)


Given the following equations, determine whether the lines are parallel, perpendicular, coincide, or neither:

1.  y = 2x + 1





2.     2x – 3 = y

     y = 2x – 3





     -
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x + 2 = y

3.  y = 3x + 4





4.  2x – 2y = 10

     y = 2x + 5





        -x + y = 4

5.    2x – y = 1





6.  2x – y = -1

     4x – 2y = 2





     y = 2x – 3

7.  x = 3 





8.  x = 2

     y = 5





     y = 9

9.  y = 3x + 1





10.  x + 3y = 6
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Strand 3: Patterns, Algebra, and Functions

Concept 3: Algebraic Representations: Represent and analyze mathematical situations and structures using algebraic representations.

PO 1.    Evaluate algebraic expressions, including absolute value and square roots.

1) In the equations below, what is the value of y when x = -4?

a)  
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2) Evaluate the expression for the given values of the variables.

a)  
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Strand 3: Patterns, Algebra, and Functions

Concept 3: Algebraic Representations: Represent and analyze mathematical situations and structures using algebraic representations.

PO 2.    Simplify algebraic expressions. 

1. Simplify one or both sides of the equation.  

a. Use the distributive property to remove parentheses.

b. Combine like terms. (Both variables and constants.)

2. Collect the variable terms on the side with the greater variable coefficient.

3. Use inverse operations to isolate the variable.

a. Use addition or subtraction first.

b. Use multiplication or division last.

c. If the coefficient is a fraction, multiply both sides by the reciprocal.

Solve the following equations.  Show all steps.
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Answer Key

1. 
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Strand 3: Patterns, Algebra, and Functions

Concept 3: Algebraic Representations: Represent and analyze mathematical situations and structures using algebraic representations.

PO 3. Multiply and divide monomial expressions with integral exponents.
Properties of Exponents / Powers

Multiplication:

1. Product of Powers- When you multiply powers with the same base you ADD the exponents

3 4 x 3 6 = 3 4 + 6 = 3 10
2. Power of Powers- When you take a power to a power you MULTIPLY the exponents

(3 4) 6 = 3 4 x 6 = 3 24

3. Power of Products- When you have several terms being multiplied within a (  ) taken to a power, you SEPARATE all the terms and take each individually to the power.

( -5 x3 y ) 2 =  (-52)  (x3)2   (y2) = 25 x6  y2
4. Zero Power- No matter how many terms, it always equals 1.

(-47 x 3 y z ) 0 = 1

5. Negative Powers- Take the Reciprocal of the term to the same power as a positive power.

X –2 = 1/ x2 =                                               2 x-3 y-4           1_____
           (1/2) –3 = (2/1)3 = 23 = 8                    6 z          = 3 x3 y4 z

           3-2= 1/32= 1/9

    Division of Exponents:
6. Quotient of Power – When you divide exponents with the same base you subtract the exponents.
      3 6

      3 4  = 3 6-4  = 32 = 9

7. [image: image245.wmf][image: image246.wmf] 

Power of Quotient – Separate the numerator and the denominator to the power.
3    4    (3) 4
4        (4) 4

Multiplication Properties of Exponents

Product of Powers Property:
To multiply powers having the same base, add the exponents.
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Example: 
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Power of a Power Property:
To find a power of a power, multiply the exponents.
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Example: 
[image: image58.wmf](

)

5

5

5

2

4

2

4

8

=

=

×


Power of a Product Property:
To find a power of a product, find the power of each factor and multiply.
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Example: 
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Zero and Negative Exponents

· A nonzero number to the zero power is 1

· 
[image: image61.wmf]a

n

-

 is the reciprocal of 
[image: image62.wmf]a

n

: 
[image: image63.wmf]a

a

a

n

n

-

=

¹

1

0

,


Division Properties of Exponents

Quotient of Powers Property
To divide powers having the same base, subtract the exponents.
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Power of a Quotient Property
To find a power of a quotient, find the power of the numerator and the power of the denominator and divide.
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Example: 
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Simplify each expression.  

Write your answer with no negative exponents.

1. 
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Strand 3: Patterns, Algebra, and Functions

Concept 3: Algebraic Representations: Represent and analyze mathematical situations and structures using algebraic representations.

PO 4.    Translate a written expression or sentence into a mathematical expression or sentence.

Translate the phrase into an algebraic expression.

1. Eleven decreased by eight divided by a number

2. Nine less than the product of ten and a number d

3.  Three times the product of d and b 

Translate the sentence into an equation or an inequality.

4. Five decreased by eight is four times y.

5. A number q is greater than or equal to one hundred.

6. Five squared minus a number p is thirty-seven.

Strand 3: Patterns, Algebra, and Functions

Concept 3: Algebraic Representations: Represent and analyze mathematical situations and structures using algebraic representations.

PO 5.    Translate a sentence written in context into an algebraic equation involving multiple operations.

1. What’s Up Chevrolet charges $65 per hour for labor on car repairs. Assume that the cost for parts is $339. Write an expression to find the total cost for repair if the mechanic spends x hours working on your car.

2. Oscar’s Pharmacy pays its Pharmacist $25 an hour for the first 40 hours per week. Any hours of work over 40 per week will be paid at a rate of time and a half. Write an algebraic expression that shows the weekly amount a Walgreen’s Pharmacist can earn if he/she works x hours of overtime.

3. Blockhead Video charges its customers a one time membership fee $25. They charge $3.00 per week for video rentals and $5.00 per week for video game rentals. Write an algebraic expression for the total cost of being a member of Blockhead Video and renting x number of videos and y number of video games.

4. I’ll Tell Wireless has a special rate for its low use customers. The rate is $8.99 per month, which includes 30 free minutes. After the first 30 minutes there is a $.15 per minute off peak and $.20 per minute peak use charge. Write an algebraic expression for the monthly cost if you exceeded the 30 minutes of free time.

5. Hurts Car Rentals charges  $69 a day for the rental of a 15-passenger van. This price includes 200 free miles per day. There is an additional charge of $.30 per mile for every mile over the allotted mileage. Write an algebraic expression detailing the cost of renting this van for 5 days assuming you will exceed the allotted mileage.

Strand 3: Patterns, Algebra, and Functions

Concept 3: Algebraic Representations: Represent and analyze mathematical situations and structures using algebraic representations.

PO 6.    Write a linear equation for a table of values. 

Match the equation that represents the data in each table below.

1)




2)




3)


4)




5)




6)


1. Which of the following lines passes through the points in the table?


2. Sketch the graph of the line that passes through the points in the table.


3. Sketch the graph of the line that passes through the points in the table.


4. Sketch the graph of the line that passes through the points in the table.


Strand 3: Patterns, Algebra, and Functions

Concept 3: Algebraic Representations: Represent and analyze mathematical situations and structures using algebraic representations.

PO 7.    Write a linear algebraic sentence that represents a data set that 

models a contextual situation.  

PO 8.    Solve linear (first degree) equations in one variable (may include absolute value).
1.  4x + 8 = 21





2.  4x + 2 = x + 3

3.  6x + 4 = 5x – 2




4.  6x + 4 = 5

5.  6z + 3 = 8z –5




6.  8n + 26 – 6n = 54

7.  5x + 8 = 33





8.  3x + 2 = x – 9

9.  –3n +18 + n = 34




10.  4x + 2 < 5

11.  4x – 9 > x





12.  3x + 1 
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13.  6m – 9 > m – 5




14.  –7r + 21 > 0

15.  –2t 
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16.  3y + 2 < -28

Strand 3: Patterns, Algebra, and Functions

Concept 3: Algebraic Representations: Represent and analyze mathematical situations and structures using algebraic representations.

PO 9.    Solve linear inequalities in one variable.

Solve each equation or inequality

1.
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 Strand 3: Patterns, Algebra, and Functions

Concept 3: Algebraic Representations: Represent and analyze mathematical situations and structures using algebraic representations.

PO 10.  Write an equation of the line given: two points on the line, the slope and a point on the line, or the graph of the line.
 Slope

[image: image99.wmf]1

2

1

2

x

x

y

y

m

-

-

=


Slope-Intercept Form – 

Given the slope m and the y-intercept b
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Point-slope form of a line:  
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Find the equation of the line that passes through the given points

	a) (-3, 6)  (-2, 8)


	b) (3, 2)  (1, 0)
	c) (4, -2)  (7, -5)
	d) (3, 1)  (4, -2)

	e) (-2, 2)  (1, -4)
	f) (-3, 1)  (3, 3)
	g) (2, 3)  (-2, 1)
	h) (-3, -2)  (3, 4)



	i) (-8, 2)  (4, 2)
	j) (0, 4)  (2, 8)
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Slope-Intercept Form - Given the slope m and the y-intercept b
Y = mx + b
[image: image113.wmf]
Point-Slope Form - Given the slope m and a point x1,y1 
Y – y1  = m ( x – x1)



Two Points - Given two points 
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to find the slope m. Then use the point- slope form with this slope and either of the given points to write an equation of the line.

Write the equation of the line that passes through the two points.

	1. (-1, -1),  (2,8)

2. (1, 2),  (4, -1)

3. (2, 0),  (-4, -3)

4. (3, 1),  (-3, 5)

5. (1, -4),  (-2, 8)


	6. (0, -4),  (3, 2)

7. (2, -5),  (-1, 1)

8. (1, 1),  (4, 4)

9. (1, 2),  (2, 4)

10. (1, 3),  (3, 3)




Strand 3: Patterns, Algebra, and Functions

Concept 3: Algebraic Representations: Represent and analyze mathematical situations and structures using algebraic representations.

PO 11.  Solve an algebraic proportion.

Solve the proportions below.
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Solve each proportion problem:

1. A tree 8 ft high casts a 4-ft shadow.  At the same time, a nearby building casts a 16-ft shadow.  What is the height of the building?


2. A post 8 ft high casts a shadow 6 ft long.  At the same time, a tower for power lines casts a shadow 30 ft long.  How high is the tower?


3. A flagpole 5 meters tall casts an 8-meter shadow.  At the same time of day a nearby building casts a 24-meter long shadow.  How tall is the building?

4. Melody, who is 5 ft tall, casts a shadow that is 85 inches long.  How tall is her friend Jesus if he casts a shadow 10 inches shorter than hers at the same time of day?

Strand 3: Patterns, Algebra, and Functions

Concept 3: Algebraic Representations: Represent and analyze mathematical situations and structures using algebraic representations.

PO 12.  Solve systems of linear equations in two variables (integral coefficients and rational solutions).

Solving Systems of Linear Equations by

Substitution

1.  Label Equations  

Equation #1      x + 2y = -5
Equation # 2     4x –3y =2    

2.  Decide which variable x or y in which equation.

x in #1

	x = -2y-5


3. Substitute in other Equation

x into #2

4 (x) –3y =2

4(-2y-5) –3y =2


     4.  Solve for one Variable.

4(-2y-5) –3y =2

-8y-20-3y=2

-11y = 22

y= -2

5.  Solve for other variable by substituting answer from #4

      y = -2

x = -2 (y) –5

x = -2 (-2) –5

x = 4-5

x= -1

6.  State answer as an ordered pair (x,y)

(-1,-2)

Solving Systems of Linear Equations by

( Elimination)COMBINATION 
1.  Label Equations and line them up

Equation #1      x + 2y = -5
Equation # 2     4x –3y =2    

2.  Decide which variable to eliminate x or y.

Eliminate y

3. Multiply to Eliminate

Find the Least Common Denominator of 2y and –3y

Which is 6. Multiply #1 by three and #2 by 2

3 ( x + 2y = -5)      =        3x + 6y = -15

2 ( 4x – 3y = 2)      =        8x –6y = 4


     4.  Add and Solve for one Variable.

3x + 6y = -15

8x –6y = 4


         11 x       = -11

              x = -1

5.  Solve for other variable by substituting answer from #4

          into one of the original equations

           (x) + 2y = -5

            -1 + 2y = -5

             2y = -4

               y = -2

6.  State answer as an ordered pair (x,y),  (-1,-2)

Solving Systems of Linear Equations by

Graphing

1. Put Both equations into the form  y = mx + b

2. Graph Both equations on the same graph.

3. The point where they intersect is the solution.

4. Check the solution algebraically by substituting the solution into both original equations.

Equation #1      x + 2y = -5
Equation # 2     4x –3y =2    

#1      2y = -x -5

       y = -1/2 x  –5/2     

#2       -3y = -4x +2

         y =  4/3 x  -2/3

Graph using any one of the three methods

1- T-Chart

2- Slope and y intercept

3- x and y intercept

The point where they cross is (-1,-2)

Check Algebraically

#1         x + 2y = -5                    #2    4x – 3y = 2

            (-1) +2 (-2) = -5                     4(-1) – 3 (-2) = 2

               -5 = -5                                   2 = 2

Solve each System.
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 EMBED Equation.3  [image: image141.wmf]
 What are the solutions to the system of linear equations shown?  
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Strand 3: Patterns, Algebra, and Functions

Concept 3: Algebraic Representations: Represent and analyze mathematical situations and structures using algebraic representations.

PO 13.  Add, subtract and perform scalar multiplication with matrices.

Strand 3: Patterns, Algebra, and Functions

Concept 3: Algebraic Representations: Represent and analyze mathematical situations and structures using algebraic representations.

PO 14.  Calculate powers and roots of real numbers, both rational and irrational, using technology when appropriate. 

PO 15.  Simplify square roots and cube roots with monomial radicands (including those with variables) that are perfect squares or perfect cubes.

PO 16.  Solve square root radical equations involving only one radical.
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Properties of Radicals

Product Property The square root of a product equals the product of the square roots of the factors.
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Example:
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Quotient Property The square root of a quotient equals the quotient of the square roots of the numerator and denominator.
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Cube Roots The properties of cube roots are identical to the properties for square roots except that a and b can be either positive or negative numbers.  

Example:
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Simplify each radical expression:

1. 
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Answer Key

1. 
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Strand 3: Patterns, Algebra, and Functions

Concept 3: Algebraic Representations: Represent and analyze mathematical situations and structures using algebraic representations.

PO 17.  Solve quadratic equations.

Standard Form of a quadratic equation: 
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Quadratic Formula: 
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Use the Quadratic Formula to solve the following equations.
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Strand 3: Patterns, Algebra, and Functions

Concept 3: Algebraic Representations: Represent and analyze mathematical situations and structures using algebraic representations.

PO 18.  Identify the sine, cosine, and tangent ratios of the acute angles of a right triangle.
Strand 3: Patterns, Algebra, and Functions
Concept 4: Analysis of Change: Analyze change in a variable over time and in various contexts.

PO 1.  Determine slope, x-intercepts, and y-intercepts of a linear equation.

1. What is the slope of the line 
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2. What is the slope and y-intercept of  
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3. What is the slope of the line in the figure?


4.  What is the slope and y-intercept of the line 
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5. If 
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, write the equation of the line.

Strand 3: Patterns, Algebra, and Functions
Concept 4: Analysis of Change: Analyze change in a variable over time and in various contexts.

PO 1.  Determine slope, x-intercepts, and y-intercepts of a linear equation.

An architect is requiring the pitch of a roof to be at least 7 on 10 on a new house he is building, as shown in the figure below.


7





10


Which of the following roofs is not steep enough?

A roof with a pitch of 5 on 7.

A roof with a pitch of 14 on 15.

A roof with a pitch of 3 on 5.

A roof with a pitch of 7 on 9.

What is the steeper slope?

A.  
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What is the steeper slope?
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D.  no slope

What is the steeper slope?
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D.  none
Strand 3: Patterns, Algebra, and Functions
Concept 4: Analysis of Change: Analyze change in a variable over time and in various contexts.

PO 2.  Solve formulas for specified variables.

1. Solve for h:                 A = ½ bh

2. Solve for W:               V = LWH

3. Solve for C:                S = C + rC

4. Solve for T:                 A = P + Prt

5. Solve for L:                 P = 2L + 2W

6. Solve for h:                  V = 
[image: image209.wmf]p

r2h

7. Solve for P:                  A = P( 1 + r)r














































































































































































































































5





5





x





-5








8 ft





6 ft





� EMBED Word.Picture.8 ���


30 ft





x ft





x ft





16 ft





8 ft





x�
y�
�
-2�
-3�
�
0�
1�
�
2�
5�
�
-1�
-1�
�






-5





-5





5





5





x





y





-5





-5





5





5





x





y





x�
y�
�
0�
5�
�
2�
0�
�
4�
-5�
�
1�
2.5�
�






x�
y�
�
-3�
0�
�
0�
3�
�
-1�
2�
�
1�
4�
�






y





line b





line d





line c





line a





-5





-5





5





5





x





y





x�
y�
�
0�
2�
�
4�
0�
�
2�
1�
�
-2�
3�
�






4 ft





A.


�
� EMBED Equation.3 ����
�
B.





�
� EMBED Equation.3 ����
�
C.


�
� EMBED Equation.3 ����
�
D.


�
� EMBED Equation.3 ����
�






-5





-5





5











x�
y�
�
-1�
6�
�
0�
3�
�
1�
0�
�
2�
-3�
�






A.





�
� EMBED Equation.3 ����
�
B.





�
� EMBED Equation.3 ����
�
C.


�
� EMBED Equation.3 ����
�
D.


�
� EMBED Equation.3 ����
�






A.





�
� EMBED Equation.3 ����
�
B.


�
� EMBED Equation.3 ����
�
C.


�
� EMBED Equation.3 ����
�
D.


�
� EMBED Equation.3 ����
�






x�
y�
�
-4�
-20�
�
-1�
-5�
�
3�
15�
�
7�
35�
�






x�
y�
�
-4�
7�
�
2�
-11�
�
7�
-26�
�
11�
-38�
�






x�
y�
�
-6�
6�
�
-2�
8�
�
2�
10�
�
4�
11�
�






A.


�
� EMBED Equation.3 ����
�
B.





�
� EMBED Equation.3 ����
�
C.





�
� EMBED Equation.3 ����
�
D.


�
� EMBED Equation.3 ����
�






A.


�
� EMBED Equation.3 ����
�
B.


�
� EMBED Equation.3 ����
�
C.


�
� EMBED Equation.3 ����
�
D.


�
� EMBED Equation.3 ����
�






A.


�
� EMBED Equation.3 ����
�
B.


�
� EMBED Equation.3 ����
�
C.


�
� EMBED Equation.3 ����
�
D.


�
� EMBED Equation.3 ����
�






-5




































































5





x





y





-5





-5





5





5





x





y





-5





-5





5





5





x





y





-5





-5





5





5





x





y





-5





-5





5





5





x





y





-5





-5





5





5





x





y





-5





-5





5





5





x





y





-5





-5





5





5





x





y





y





x





5





5





-5





-5





y





x





5





5





-5





-5





y





x





5





5





-5





-5





Function





Function





Not a Function





-5





-5





5





5





x





y





-5





-5





5





5





x





y





-5





-5





5





5





x





y





-5





-5





5





5





x





y





-5





-5





5





5





x





y





-5





-5





5





5





x





y





-5





-5





5





5





x





y





-5





-5





5





5





x





y





Time





Temperature





� EMBED MSDraw.Drawing.8.2  ���





Time





Speed





� EMBED MSDraw.Drawing.8.2  ���





� EMBED MSDraw.Drawing.8.2  ���





� EMBED MSDraw.Drawing.8.2  ���





Distance





Height





Time





Time





5





5





-5





-5





5





5





-5





-5





x�
y�
�
-2�
-8�
�
-1�
-2�
�
0�
4�
�
1�
10�
�






x�
y�
�
1�
5�
�
2�
7�
�
3�
9�
�
4�
11�
�
























































































































































































































































































































































































































































































































Pueblo Magnet High School

Mathematics Department


_1096120427.unknown

_1160896967

_1160896985

_1160897003.unknown

_1160897011.unknown

_1161173997.unknown

_1161173999.unknown

_1161174002.unknown

_1161174004.unknown

_1161174005.unknown

_1161174003.unknown

_1161174000.unknown

_1161173998.unknown

_1160897013.unknown

_1160897017.unknown

_1160897025.doc



_1160897014.unknown

_1160897012.unknown

_1160897007.unknown

_1160897009.unknown

_1160897010.unknown

_1160897008.unknown

_1160897005.unknown

_1160897006.unknown

_1160897004.unknown

_1160896994.unknown

_1160896998.unknown

_1160897000.unknown

_1160897001.unknown

_1160896999.unknown

_1160896996.unknown

_1160896997.unknown

_1160896995.unknown

_1160896989

_1160896992.unknown

_1160896993.unknown

_1160896990.unknown

_1160896987

_1160896988

_1160896986

_1160896976

_1160896981

_1160896983

_1160896984

_1160896982

_1160896978

_1160896979

_1160896977

_1160896972

_1160896974

_1160896975

_1160896973

_1160896969

_1160896971

_1160896968

_1098857725.unknown

_1100938115

_1160896957.unknown

_1160896962

_1160896965

_1160896966

_1160896963

_1160896960

_1160896961

_1160896958.unknown

_1160896940.unknown

_1160896949.unknown

_1160896953.unknown

_1160896954.unknown

_1160896955.unknown

_1160896951.unknown

_1160896952.unknown

_1160896950.unknown

_1160896945.unknown

_1160896947.unknown

_1160896948.unknown

_1160896946.unknown

_1160896942.unknown

_1160896944.unknown

_1160896941.unknown

_1100938456

_1160896936.unknown

_1160896938.unknown

_1160896939.unknown

_1160896937.unknown

_1160896932.unknown

_1160896934.unknown

_1160896935.unknown

_1160896933.unknown

_1160896930.unknown

_1100938188

_1100938306

_1100938135

_1099226698.unknown

_1100520965.unknown

_1100521131.unknown

_1100938032

_1100938071

_1100521229.unknown

_1100522637.unknown

_1100521168.unknown

_1100521097.unknown

_1100521109.unknown

_1100521038.unknown

_1100520549.unknown

_1100520603.unknown

_1100520900.unknown

_1100337523.unknown

_1100340181.unknown

_1100340357.unknown

_1100339915.unknown

_1099226827.unknown

_1099137733.unknown

_1099226610.unknown

_1099226653.unknown

_1099226556.unknown

_1098857810.unknown

_1099137515.unknown

_1098857825.unknown

_1098857752.unknown

_1098857778.unknown

_1098857796.unknown

_1098857737.unknown

_1098102360.unknown

_1098595749.unknown

_1098857676.unknown

_1098857713.unknown

_1098857694.unknown

_1098102467.unknown

_1098102521.unknown

_1098102696.unknown

_1098189383.unknown

_1098189425.unknown

_1098102575.unknown

_1098102494.unknown

_1098102411.unknown

_1098102441.unknown

_1098102390.unknown

_1096788216

_1096804468

_1098009288.unknown

_1098010763.unknown

_1098019615.unknown

_1098019634.unknown

_1098011832.unknown

_1098019606.unknown

_1098010699.unknown

_1096804606

_1097405989.unknown

_1098009200.unknown

_1096804637

_1096804729

_1097405978.unknown

_1096804728

_1096804620

_1096804516

_1096804548

_1096804486

_1096788217

_1096788342

_1096804441

_1096788226

_1096787773

_1096787976

_1096788116

_1096788215

_1096788001

_1096787950

_1096535321

_1096535511

_1096535368

_1096534824

_1096535206

_1096534609

_1096115614.unknown

_1096120072.unknown

_1096120324.unknown

_1096120346.unknown

_1096120398.unknown

_1096120334.unknown

_1096120156.unknown

_1096120168.unknown

_1096120135.unknown

_1096119955.unknown

_1096120028.unknown

_1096120047.unknown

_1096119962.unknown

_1096119855.unknown

_1096119893.unknown

_1096119828.unknown

_1096036245

_1096039197

_1096039496

_1096039730

_1096115326.unknown

_1096040338

_1096039504

_1096039333

_1096039495

_1096036651

_1096036742

_1096036281

_1095511462.unknown

_1096035374

_1096035817

_1096036185

_1096035652

_1096035189

_1096035299

_1096035097

_1095679847

_1095509124.unknown

_1095510417.unknown

_1095511287.unknown

_1095511330.unknown

_1095511101.unknown

_1095509352.unknown

_1095509516.unknown

_1095509537.unknown

_1095509416.unknown

_1095509216.unknown

_1095509243.unknown

_1095509146.unknown

_1095508908.unknown

_1095508959.unknown

_1095508858.unknown

